13000 GeV pp_ tt
o L L L I B I B B B B %
> _ top ]
) p (ATLAS semileptonic ttbar) 2
210 = —=3
oV F  m ATLAS 38
fgﬁ — —4— Pythia 8.308 default N
SE I ¢ Sherpa 2.2.5 default o E
| |
®] ™
g 10° & —|2
..JQI— — 0 4
o - _
o - _|
[qN]
© s o
10° =%
— )
- —{©
- 1O
™
| —
L 1=
X
©
107" & =
— e
| N
- 18
o
B 19
el g
10 T P S T R S I R =
2 B =2
" n -
< - —]
— | —
l_
= N i
e 1 1
il B |
"C-U' | —
i i b{ i
e ; -
05 - ’ ________________________________ : o5
P T S S R S S Lo |
500 1000 2000

thad [GeV] m

1500
" in [490,1160] [GeV]



	Contents
	Page 1


